—AREAEFEERFOR

SAFEEREAEE (ERYERRAES)

SH4AEAR1IH~SME3IF3IHE T (B M)
B B SEE BIEEE B
| XA DEB
1. KBINA
(1) —me# 2,689,500 2,807,000 A 117,500
(2) Bphot 0 0
2. BhRLEUX
(1) EFEUES 200,000 196,000 4,000
(2) 25 210,360 294,840 A 84,480
3. BEfFEIA 70,000 110,000 A 40,000
4. BERA 40,200 45,288 A 5,088
5. XA
(1) BELE 480,000 200,000 280,000
(2) ot 359,084 192,260 166,824
6. BAE 307,001 0 307,001
HHEANA AR (A) (A) 4,356,145 3,845,388 510,757
Il 2 H DEB
1. Ex%&
(1) E=EEEE 0 0 0
(2) BT IEEZE 0 0 0
(3) FEERMEE 0 0 0
(4) IRasBiEEE 0 0 0
(5) EALEE 245,200 0 245,200
(6) Z b= 46,800 31,200 15,600
EER*GEE
(1) 2% 825,300 866,700 A 41,400
(2) BFHRE 49,000 50,500 A 1,500
BEELOE 1,166,300 948,400 217,900
2, BEE
iEd=Fiay S 1,200,000 1,200,000 0
BEFH 320,000 320,000 0
WEE 0 120,000 A 120,000
HEE 160,318 18,814 141,504
& 54,140 16,240 37,900
ENRI& 334,290 264,000 70,290
THE 65,359 74,092 A 8,733
wBE 217,594 175,802 41,792
EREAE 0 0 0
ERAR 441,135 387,792 53,343
il 0 25,660 A 25,660
Ear
(D) #H? 36,476 48,539 A 12,063
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REBgENT ERE  (G) = (C) + (F) [(G) 923,713 924,493 A 780
EEMERPES 923,713 924,493 A 780
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